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Trekkracht in transportketting(en)

Ketting glijdende wrijving

FF  = 9,8 • A1 • (2 qF + Q) • µ [N]

Ketting rollende wrijving

FF  = 9,8 • A1 • (2 qF + Q) • µ [N]

Horizontaal

Ketting glijdende wrijving

FF  = 9,8 • A1 • [cosα • (2 qF + Q) • µ + sin α • Q] [N]

Ketting rollende wrijving

FF  = 9,8 • A1 • [cosα • (2 qF + Q) • µ + sin α • Q] [N]

Onder een hoek 

FF  = 9,8 • A1 • ( 3.6 • v • C + 2 qF • µ)  [N]

QL = 3600 • HF • BF • v • ß1 • γF    [t/h]

(ß1 = ± 0,5-0,6)
(HF ~   0,3 BF)

QL

Bij schrapertransporteurs

Ketting glijdende wrijving

Ketting rollende wrijving

Ketting glijdende wrijving

Ketting rollende wrijving
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